80

20

10
Latitude

20

10
Latitude

20

10
Latitude

crelszon

801
-100

-150 -

70

20

10

10

20

10

T T T
B & -] S
3 3 9
H o3 o3 1e2 -
3 g 3 3
n =] o e <
Q
N
2 L
71 N < L L = 2
o g E - SEELEZEEEsELE T g & &
3] (9) @oepms 18 Hy (rqy) aanssaid [ara) vag (Twi/ ) IERH PRY WBY
T T
F & -8 & 8
C} C} 3 %
z - o2 1eZ o2 B
3 3 g g
=0 = 1- R -
S S g
% | uw | ﬂ ) Q | |
geseen R T I e B : = 87 @ E
[} 9] (Tw/m) Xni ey Yqisuas = (fepunu) vonendidarg QL @uyan K5 9 - eon pry Wy
2
2
- S & S
s
S
3 3 3
E = of oF E o
3 3 L 3
=
- ° °
= = = 1e °
o Q IS
N N N
- 2 9]
Ik g B s g : R !
=7 E = 2 = 2 % 28 8 © & 8 3 8
[} [} (Tuwy/m) xnj ey (210 Jang = (Tw/BY) 1a1em ajqendioarg (W) 9D - 1BIH “pe WY

Latitude

Latitude

Latitude

rahzon

rahcszon

rahcrezon



60 T T T 7 . 50 .
- g 3
a e
£ z =
z < H0F | & -100 —
o Z HE 3 E
2 z e E z
8] 5 90E E S
L T BE 3 3 -150|~
g st E =
T g = 5
ER
2 z 8 E E 200 B
g 2 300F 3
Z a0 — & E
Ed = =
60 | 1 | - g = I 1 I = 250 1 I .
0 10 20 [ 10 20 10 20
Latitude Latitude Latitude
rlahcrezon rlahcszon rlahzon
= T T = = T T = 300 -
= — 280 — —
g - 7 - S; 260~ .
g = S = Z 210 n
19 = = 3
7 |efE 2 IeE g 2o 7]
2 1HE % |E ]
z = [ — @ 200 -1
3 = _é = S
2 2 HE g ]
S dE 1= Z 160 ]
E E 140~ J
10E I 1 I 1 I 1 I 120 1 I
0 10 20 0 10 20 10 20
Latitude Latiude Latitude
rldscszon rldszon rluszon
300 - - 300 | - 2 -
290 =
280 V 3 a
270 E <
& 260F E £
I8 1 e 1 =
2 350k E g 2
22201 E ] ©
3 210F E z o
5 200 = ~ 200 . g
Z190F E 2 £ Sl ]
2 180 E =
5170 - v = -
CI%E 3 150 g
130 E < sk ]
130 = =
120 | 1 | | 1 | 20 1 |
0 10 20 0 10 20 10 20
Latitude Latitude Latitude
rlutcszon rlutzon rsahcrezon
)
Z
Z
]
150 K
T T
5 4o - 140 - 9
2 130F E £ i
3 1201 — _ 120 — <
< q Lo =
100 (- = £ 100 E| 5 i
g s 1 2
5 sof= B 2 80fF E £
3 2 SE 3 £ i
S sl 1 2 6of E z
g z S0 = z
£ 401 B 2 J0F E Z B
z E¥E 3 g
o 0 ] < ;8 E E 98 270 B
£ of E of E %
-10 - = 1 Il 1
E L | 1 - | L 1 L 1 = 260
20 ) 10 20 20 0 10 20 ; 0 IOLa“mde 20 30
Latitude Latitude @0
rsahcszon rsa rsdscszon
a
£
300 - T T B
= ] ~
z 2 Z
P = <
8 z =}
‘E ©w =
L] E e =
3 & 'gg E OBS E E
= — V5702 z
Z 100~ - 60 | | — RIMI607Tb | B
z 40 o 10 — RIM684Std0 [ H
S sof- B Latitude B )
| 1 1 — QP040840 1 1
0 0 10 20 — QP050:840 0 10 20
Latitude = APWI5.840 Latitude
rstszon rsttzon rsutzon



250

T 140 T —
_ 120 E
NE a 100 -
s 5 OF 3
= T E
g 3 2
T e o E
3 = a0F E
H 5 20FE E
£ K} - -
3 £ 8F 3
. . & = E 10— —
= = J20F E
2k E - ]
2 sof - £ E E S
E E ok J
| 1 | Il 1 Il | 1 |
-loo 0 10 20 0 10 20 0 10 20
Latitude Latitude Latitude
rtszon rttzon sstzon
| T
3 =
~ E g E
g £ E
g E z P
& E < f
N E 4 &
s 3 ko /\ 2
| 7 2 ]
: E £
i E 2 £
3 = & X
3 N 5
E H
sE E
S0 | I ! | 1 | 006 | 1 !
0 10 20 0 10 20 0 10 20
Latitude Latitude Latitude
taszon tauuzon tauvzon
T
g
b
=2
5
E
E
5
H
g
g
)
£
g
2
| 1 |
0 10 20
Latitude



